
 

Форма оценочного материала для диагностического тестирования 

 

Тестовое задание для диагностического тестирования по дисциплине: 

 

Иностранный язык в профессиональной сфере, семестр 5, 6, 7,8 

 

Код, направление 

подготовки 

03.03.02 Физика 

Направленность 

(профиль) 

Цифровые технологии в геофизике 

Форма обучения Очная 

Кафедра-разработчик «Кафедра лингвистики и переводоведения» 

Выпускающая кафедра «Экспериментальной физики» 

 

Диагностический тест 1 (5 семестр) 

 

 

Проверяемая 

компетенция 

Задание Варианты ответов  Тип 

сложности 

вопроса 

Вопросы низкого уровня сложности 

УК 4.3  1) Выберите правильный 

ответ: 

What is lithostratigraphy 

based on? 

a. on rock 

boundaries 

b. on river banks 

c. on round tables  

Низкий  

УК 4.3  2) Выберите правильный 

ответ:  

Email in its full form is 

A. Electronic mail 

B. Electric mail 

C. Ecommerce mail 

D. End mail 

 

 

Низкий  

УК 4.3  3) Выберите правильный 

ответ:  

A network that links 

computers around the world 

A. Internet 

B. Browser 

C. Webpage 

Низкий 



is the...? 

 

D. Homepage 

УК 4.3 4)Выберите правильный 

вариант ответа: 

What 

is biostratigraphy based on? 

 

A. on fossil 

boundari

es 

B. on front 

doors 

C. on family 

members 

Низкий 

УК 4.3 5) Выберите правильный 

ответ: 

What is chronostratigraphy 

based on? 

 

A. on your 

opinion 

B. on the 

weather  

C. on 

definite 

time 

boundari

es. 

 

Низкий 

Вопросы среднего уровня сложности 

УК 4.3 6)Заполните 

пропущенные в тексте 

слова.  

The _________is the basic 

unit, which: 

– Is internally homogenous 

(mostly) 

– Has clear boundaries 

– Can be mapped out (at 

scale of 1:10,000 : scale 

traditionally used for 

mapping) 

 

a. Formation 

b. Function 

c. Fiction 

d. Friction  

Средний 

УК 4.3 7) Выберите правильный 

ответ (T\F). 

What do geological maps 

Maps define the 

lateral extent, (i.e. 

formations) 

Средний 



show/define? 

 

 

 

 

УК 4.3 8) Выберите правильный 

ответ. 

Time tools that are 

independent of rock type 

allow correlation by 

establishing time lines. these 

are created by using: 

 

 

a. Fossils 

(evolution/extinction

) 

b. Events 

(global/regional 

footprint) 

c. Both 

Средний 

УК 4.3 9) Выберите правильный 

ответ.: 

What is diachronism? 

 

 

1. when the deposit 

may be 

lithologically 

identical, but of 

different ages in 

separate places 

2. when the deposit 

may be 

lithologically 

identical, but of the 

same ages in the 

same places 

 

 

Средний 

УК 4.3 10) Выберите 

правильный ответ: 

Define biostratigraphy 

 

1. It is the method of 

subdividing the rock 

record into units 

based on fusion 

2. It is the method of 

subdividing the rock 

record into units 

based on fossils 

Средний 

УК 4.2 11) Выберите 1. it is the Средний 



правильный ответ. 

What is stratigraphy? 

 

interpretation of 

rock units as 

sequences of 

events in earth 

history 

2. in earth 

mathematics 

3. in earth 

linguistics 

УК 4.2 12) Выберите несколько 

ответов.  

What resources help you to 

search for the articles in the 

web 

1. Google Scholar 

2. Web of Science 

3. Cyberleninka 

4. E Library 

Средний 

УК 4.3 13) Выберите 

правильный ответ. 

Stratigraphy is the 

interpretation of rock units as 

sequences of events in earth 

history. How do we establish 

the sequence? 

 

 

we use: 

A. sequencing tools 

(superpositon, way 

up, etc) 

B. time tools (litho-, 

bio, and event 

stratigraphy) 

C. Both 

 

Средний 

УК 4.3 14) Выберите 

правильный ответ 

Stratigraphy is the 

interpretation of rock units as 

sequences of events in earth 

history. how do we interpret 

the sequence? 

 

1. we use the 

primary tool 

actualism 

(uniformitarianis

m) 

2. We count a lot 

 

Средний 

УК 4.3 15) Выберите 

правильный ответ 

actualism allows us to 

interpret rocks as products 

of… 

a. Imagination 

b. digestion 

c. an environment 

Средний 



 

Высокий уровень сложности 

УК 4.3 16) Выберите 

правильный ответ. 

facies: the total ____of all of 

the characteristics of a rock 

body that allows us to 

determine its depositional 

environment. 

 

a. Sum 

b. Sun 

c. Sin 

 

Высокий 

УК 4.3 17) Выберите 

правильный ответ. 

Typical characteristics of 

facies include: 

 

a. lithology 

b. fossil content 

c. sedimentary 

structures 

d. all of the 

above 

 

Высокий 

УК 4.3 18) Выберите 

правильный ответ. 

A facies is not usually a 

single… 

 

 

a. rock type 

b. risk vibe 

c. role-play 

d. role model 

 

Высокий 

УК 4.3 19) Выберите 

правильный ответ. 

Ammonites give indication 

to what environment? 

 

. 

a. fully marine 

b. slightly green 

c. a lot to win 

Высокий 

УК 4.3 20) Выберите 

правильный вариант 

ответа. 

Corals give indication to 

a. warm, 

tropical 

waters 

b. freezing 

Высокий 



what environment? 

 

arctic 

plains 

c. the sky 

 

 

Диагностический тест 2 (6 семестр) 

 

 

Проверяемая 

компетенция 

Задание Варианты ответов  Тип 

сложности 

вопроса 

УК 4.3  1) Выберите 

правильный 

ответ:  

Corals give 

indication to what 

environment? 

 

a. warm, tropical waters 

b. freezing arctic plains 

c. the sky 

Низкий  

УК 4.3  2) Выберите 

правильный 

ответ:  

Typical 

characteristics of 

facies include: 

 

a. lithology 

b. fossil content 

c. sedimentary structures 

d. all of the above 

Низкий  

УК 4.3  3) Выберите 

правильный 

ответ:  

Which of the 

following is not a 

characteristic of a 

computer? 

a)Versatility 

b)Accuracy 

c)Diligence 

d) I.Q. 

Низкий 

УК 4.3 4) Выберите 

пропущенное 

слово 

A _________ 

enters information 

into a  computer. 

1. Processor 

2. Desktop 

3. Keyboard 

4. Mouse pad  

Низкий 



УК 4.3 5) Выберите 

пропущенное 

слово 

____ give out your 

password 

1. Always  

2. Never 

3. Sometimes 

4. Usually 

Низкий 

УК 4.3 6) Заполните 

пропущенные в 

предложении 

слова.  

A _______ 

___________ does 

not need a mouse. 

1. Computer screen 

2. Computer keyboard  

3. Touch screen 

4. Computer processor 

Средний 

УК 4.3 7) Заполните 

пропущенные в 

тексте слова.  

MP3 is a set of 

standards for 

storing ____ audio 

and video 

1. Digital 

2. Physical 

3. On-line 

4. Cloud 

Средний 

УК 4.3 8) Заполните 

пропущенные в 

предложении 

слова.  

G________   ____   

__________  

represents files via 

small pictures. 

 

1. Graphical user interface 

2. Google picture storage  

3. Ground walking formation  

4. Giving verbal samples 

Средний 

УК 4.3 9) Заполните 

пропущенные в 

предложении 

слова.  

To make the 

picture smaller you 

should r________  

it. 

 

1. renew 

2. regret 

3. remember 

4. reduce 

Средний 



УК 4.3 10) Заполните 

пропущенные в 

предложении 

слова.  

We remove 

unnecessary parts 

of the picture 

when we   

c_________  it. 

1. Cut 

2. Crop 

3. Consider 

4. Confuse 

Средний 

УК 4.3 11) Выберите 

несколько 

ответов.  

The results is an 

MP3 file which is 

much ____ than a 

WAV original. 

1. Bigger 

2. Smaller 

3. Larger 

4. Better 

Средний 

УК 4.2 12) Выберите 

несколько 

ответов.  

What resources 

help you to search 

for the articles in 

the web 

1) Google Scholar 

2) Web of Science 

3) Cyberleninka 

4) E Library 

 

Средний 

УК 4.3 13) Выберите 

правильный 

ответ. 

Which of the 

following can 

access the server? 

 

a) Web Client 

b) User 

c) Web Browser 

d) Web Server 

Средний 

УК 4.2 14) Выберите 

правильный 

ответ  

What isn’t a part 

of presentation 

1. Greeting the audience 

2. Introduction 

3. Main Body of the talk 

4. Conclusion 

5. Thanking an audience and 

inviting the questions 

Средний 



6. References list 

УК 4.2 15) Выберите 

правильный 

вариант ответа.  

What is the total 

number of users 

that can use a 

microprocessor at 

a time? 

1. Single user 

2. Multi-users 

3. Recent user 

4. New user 

Средний 

Высокий уровень сложности 

УК 4.3 16) Выберите 

несколько 

ответов.  

Choose 

Components of 

LAN 

1. Router  

2. Server 

3. Modem  

4. Twisted pair cabling  

5. File server 

Высокий 

УК 4.3 17) Выберите 

несколько 

ответов.  

What would 

happen if you 

press ctrl alt 

delete?   

1. It displays a list of active 

programs 

2. It shows performance graphs  

3. It allows tweaking with auto 

load function 

4. You can kill processes.  

5. You would reboot the 

computer 

 

Высокий 

УК 4.3 18) Выберите 

несколько 

ответов.  

What are the types 

of networks 

1. Star  

2. Circle 

3. Cube 

4. Hexagon 

Высокий 

УК 4.3 19) 

Упорядочение 

Put the URL parts 

in the correct order 

1) http://  

Protocol prefix 

2) www  

Web service 

Высокий 



. 3) .ru  

country code 

4) /hat.html  

document name 

5) libWWW/hat/  

directory path 

6) Site name 

УК 4.2 20) 

Упорядочение 

Put the elements of 

a scientific article 

in the correct order 

1) References 

2) Conclusion  

3) Authors 

4) Abstract 

5) Title 

6) Introduction 

7) Results 

8) Methods 

9) Discussions 

Высокий 

 

 



Диагностический тест 3 (7 семестр) 

 

 

Проверяемая 

компетенция 

Задание Варианты ответов  Тип 

сложности 

вопроса 

Кол-во 

баллов за 

правильный 

ответ 

Вопросы низкого уровня сложности 

УК 4.3  1) Выберите 

правильный 

ответ: 

Ammonites 

give indication 

to what 

environment? 

 

 

a. Profusely 

slim 

b. Fully marine 

c. Truly give in 

 

Низкий  2 

УК 4.3  2) Выберите 

правильный 

ответ:  

Faults formed 

_______ the 

rocks they cut. 

 

 

a. On. 

b. Onto 

c. With 

d. After 

Низкий  2 

УК 4.3  3) Выберите 

правильный 

ответ:  

Which of the 

following are 

physical 

devices of a 

computer? 

a)Hardware 

b)Software 

c)System 

Software 

d) Package 

Низкий 2 

УК 4.3 4) Выберите 

пропущенное 

слово 

What is GPS 

1. To pinpoint 

locations 

2. To spy 

3. To study the stars 

Низкий 2 



used for? 4. To broadcast 

radio  

УК 4.3 5) Выберите 

пропущенное 

слово: 

A facies is not 

usually a 

single… 

 

 

 

a. High five 

b. Bad drive 

c. Rock type  

Низкий 2 

Вопросы среднего уровня сложности 

УК 4.3 6) Заполните 

пропущенные 

в тексте 

слова.  

Your computer 

could be ____ 

by many 

different 

viruses.  

1. Infected  

2. Poisoned 

3. Bit 

4. Slaughtered 

Средний 5 

УК 4.3 7) Заполните 

пропущенные 

в тексте 

слова.  

A worm is not a 

virus but it is a 

____ program. 

1. Bad 

2. Evil 

3. Cunning 

4. Malicious 

Средний 5 

УК 4.3 8) Заполните 

пропущенные 

в тексте 

слова.  

Define original 

horizontality. 

Layers of rock 

were originally 

a. Horizontally 

b. Vertically 

c. Haphazardly 

d. Swiftly 

Средний 5 



deposited….  

  

 

УК 4.3 9) Заполните 

пропущенные 

в тексте 

слова.  

There are ____ 

than 30000 

viruses in 

existence.  

1. More 

2. Less 

3. Exactly 

4. -  

Средний 5 

УК 4.3 10) Заполните 

пропущенные 

в тексте 

слова.  

Make ____ that 

PC is 

disconnected 

before you 

remove the 

case. 

1. Sure 

2. Real 

3. True 

4. Factual 

Средний 5 

УК 4.3 11) Выберите 

несколько 

ответов.  

Server 

manufacturers 

connect hard 

drives to ensure 

that data is 

adequately 

protected and 

can be quickly 

accessed. What 

are they called?  

1. Bunch of disks 

2. RAID 

3. Redundant Array 

of inexpensive 

disks.  

4. Ethernet 

Средний 5 

УК 4.2 12) Выберите 

несколько 

ответов.  

What should 

you read in 

1. Topic 

2. Abstract 

3. Methods 

Средний 5 



order to quickly 

understand an 

article 

4. References 

УК 4.3 13) Выберите 

правильный 

ответ. 

Which of the 

following 

devices 

provides the 

communication 

between a 

computer and 

the outer 

world? 

a) Compact 

b) Input/Output 

c) Drivers 

d) Storage 

Средний 5 

УК 4.3 14) Выберите 

несколько 

правильных 

ответов. 

How can you 

control access 

to hardware and 

software? 

 

1. Lock physical 

locations and 

equipment 

2. Install a physical 

security system 

3. Use virus 

protection 

program 

4. Monitor access 

24 hours a day. 

Средний 5 

УК 4.2 15) Выберите 

несколько 

ответов.  

What are NOT 

the parts of 

IMRAD 

structure 

1. Introduction 

2. Methods 

3. Results 

4. Authors 

5. Discussion 

6. References 

Средний 5 

Высокий уровень сложности 

УК 4.3 16) Выберите 

несколько 

ответов.  

1. While 

2. Until 

3. For 

Высокий 8 



Choose loops  4. Because 

УК 4.3 17) Выберите 

несколько 

ответов.  

What are the 

features of OOP 

1. Encapsulation 

2. Kernelling  

3. Inheritance 

4. Polymorphism 

 

Высокий 8 

УК 4.3 18) 

Упорядочение 

Put these five 

stages of 

programming in 

the correct 

sequence 

1. Design a solution 

2. Code the 

program 

3. Document and 

maintain the 

program 

4. Clarify the 

problem 

5. Test the program 

Высокий 8 

УК 4.2 19) 

Упорядочение 

Write down the 

scientific 

conference 

preparation 

1. Prepare the report 

2. Write after-

conference 

article, 

containing points 

3. Submit your 

article 

4. Prepare the 

presentation 

5. Participate in the 

conference 

Высокий 8 

УК 4.2 20) 

Упорядочение 

Put the 

elements of a 

scientific article 

in the correct 

order 

1. References 

2. Conclusion  

3. Authors 

4. Abstract 

5. Title 

Высокий 8 



6. Introduction 

7. Results 

8. Methods 

9. Discussions 

 



Диагностический тест 4 (8 семестр) 

 

 

 

Проверяемая 

компетенция 

Задание Варианты ответов  Тип 

сложности 

вопроса 

Кол-во 

баллов за 

правильный 

ответ 

Вопросы низкого уровня сложности 

УК 4.3  1) Выберите 

правильный 

ответ:  

Which of the 

following are 

physical devices 

of a computer? 

a)Hardware 

b)Software 

c) System Software 

d) Package 

Низкий  2 

УК 4.3  2) Выберите 

правильный 

ответ:  

Which of the 

following is 

designed to 

control the 

operations of a 

computer? 

a)User 

b)Application Software 

c) System Software 

d) Utility Software 

Низкий  2 

УК 4.3  3) Выберите 

правильный 

ответ:  

Which of the 

following is a 

type of technique 

in which dumb 

terminals are 

connected to a 

central computer 

system? 

 

a)Time Sharing 

b)Message passing 

c)Batch environment 

d)User environment 

Низкий 2 

УК 4.3 4) Выберите 

пропущенное 

A. Lately 

B. Laterally 

Низкий 2 



слово 

Define original 

lateral continuity. 

Layers of rocks 

extend _____ 

until physically 

constrained in 

some way.  

C. Literally 

D. Maternally 

 

УК 4.2 5) Выберите 

пропущенное 

слово 

The ____ of the 

article is John 

Doe.  

1. Title  

2. Author 

3. Authors 

4. Main Idea 

Низкий 2 

Вопросы среднего уровня сложности 

УК 4.3 6)Заполните 

пропущенные в 

тексте слова.  

It is probable that 

we ____ have 

flying cars  

1. Will  

2. Can 

3. Have 

4. Had 

Средний 5 

УК 4.3 7) Заполните 

пропущенные в 

тексте слова.  

In future we 

____to control 

our houses with 

AI!   

1. Will be able to 

2. Are able to 

3. Were able to 

4. Be able to 

Средний 5 

УК 4.3 8) Заполните 

пропущенные в 

тексте слова.  

A chip is 

basically millions 

of switches on a 

tiny ____ of 

silicon 

1. Metal 

2. Piece 

3. Switch 

4. Grain 

Средний 5 

УК 4.3 9) Заполните 

пропущенные в 

1. The doubling law Средний 5 



тексте слова.  

Gordon Moore, 

the co-founder of 

Intel was the first 

person to predict 

that the number 

of transistors on a 

standard size of 

silicon would 

double very 

eighteen months. 

It’s called ____ 

2. The Eighteen 

suggestion 

3. Gordon’s 

Prediction 

4. Moore’s law 

 

УК 4.3 10) Заполните 

пропущенные в 

тексте слова.  

A facies is not 

usually a single… 

 

a. Swift swipe 

b. Rock type 

c. Wrong vibe 

Средний 5 

УК 4.3 11) Выберите 

несколько 

ответов.  

Which Sentences 

show ability?  

1. Swarming robots 

can work together 

to perform 

searches 

2. Washing machine 

will be able to 

report any 

breakdowns to 

repair.  

3. User opened the 

malicious 

executable.  

4. Imagine being able 

to send music file 

to your MP3 

player without a 

wire!  

 

Средний 5 

УК 4.2 12) Выберите 

несколько 

1. Google Scholar 

2. Web of Science 

Средний 5 



ответов.  

What resources 

help you to 

search for the 

articles in the 

web 

3. Cyberleninka 

4. E Library 

УК 4.3 13) Выберите 

правильный 

ответ  

What is the 

younging 

direction? 

 

a. the direction from 

the oldest rocks to 

the youngest. 

b. the direction from 

the youngest rocks 

to the oldest. 

c.  

Средний 5 

УК 4.3 14)Выберите 

правильный 

ответ  

Faults formed 

_______ the 

rocks they cut. 

 

a. after  

b. because 

c. with 

d. on 

 

Средний 5 

УК 4.2 15) Выберите 

несколько 

ответов.  

What are the 

parts of IMRAD 

structure 

1. Introduction 

2. Methods 

3. Results 

4. Authors 

5. Discussion 

6. References 

Средний 5 

Высокий уровень сложности 

УК 4.3 16) Выберите 

правильный 

ответ 

What’s the 

difference 

between dykes 

and sills?  

a. sills are horizontal 

b. dykes are 

horizontal 

c. they are vertical 

 

Высокий 8 



 

 

УК 4.3 17) Выберите 

правильный 

ответ  

What do 

unconformities 

represent? 

 

 

a. Unconformities 

represent time 

gaps in the rock 

record: time 

unrecorded by 

rocks 

b. Unconformities 

represent space 

gaps in the rock 

record: space 

unrecorded by 

rocks  

 

Высокий 8 

УК 4.3 18) Выберите 

правильный 

ответ  

Name the four 

types of 

unconformities. 

 

a. angular 

unconformity 

b. disconformity 

c. nonconformity 

d. paraconformity 

e. all of the above 

Высокий 8 

УК 4.2 19) 

Упорядочение 

Order the parts of 

C. V. 

1. Hobbies and 

interests 

2. Personal Details 

3. Education 

4. Work experience 

5. Other 

qualifications 

6. Name and 

Surname  

Высокий 8 

УК 4.2 20) 

Упорядочение 

Put the elements 

of a scientific 

article in the 

1. References 

2. Conclusion  

3. Authors 

Высокий 8 



correct order 4. Abstract 

5. Title 

6. Introduction 

7. Results 

8. Methods 

9. Discussions 

 

 


